Sk
=R

=

=ZEAH
222 MUE dkot=
AmEs Jls Hst

2z 6,730,295 2,971,694 3,758,601
=2 900,000
= 350,000
= 5,480,295

S2Y AKE UE0Hs LRUS As(LHBEHE/Y 6,508,600 2,701,116 3,807,484

prax)

=2 900,000
= 350,000
= 5,258,600

ADNEY s A 2,595,400 585,380 2,010,020
2 900,000
< 1,695,400

SEYAMNY LAE L O 87,900 145,480 57,580

202 OfH 67,900 89,480 ~21,580

01 =401 t] 14,900 19,480 £4,580
O2TLAY RBIIZ Y2 ¢ ALFO 14,900

03 =2/ 201l 53,000 70,000 £17,000
OSTEAMY LH&s ¥ Cieist 57 53,000

301 YerEars 20,000 40,000 £20,000

07 B12tol R el of 10,000 10,000 0
O2ZAY HOf el XY 10,000

08 2IBIZH Ol 10,000 30,000 A20,000
O2ZEAY X1 QB EH 10,000

SEEAY ABFT 87,600 73,000 14,600

203 YRFH| 69,000 67,000 2,000

03 A FHAL Y] 69,000 67,000 2,000
oag 2m 4 30,000
O+E ZH A3 15,000
O9AXt RXJIL X4 15,000
odE S - FH B 5,000
OJIE 2REAY FX 4,000

204 B2 48| 18,600 6.000 12,600

03 SZY2 A 18,600 6,000 12,600
ouelgSH| 50,0002 312+ 128 18,600

GTI® 18 S=ONY ZFHEY 57 1,550,000 20,000 1,530,000
=2 900,000
= 650,000

307 212401 & 1,550,000 0 1,550,000
=2 900,000
= 650,000

02 BRAPHEE 1,550,000 0 1,550,000
OGTIZXIPHEXtet &3 N3 1,550,000
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2 A
X'IiH:
oo

(&)

900,000
== 650,000
KOICA EZflx ey A8 X 540,000 0 540,000
403 X XISHHS K201 d 540,000 0 540,000
01 AXIEM A= 540,000 0 540,000
O©JIBtAlE XIE 540,000
S 2AIUAREM ERUESH 20,000 10,000 10,000
307 ©1zZtol ™ 20,000 8,000 12,000
04 QIZFHALE X 20,000 8,000 12,000
O NEFH M 20,000
SEO0 XA dF3|2 &y 25 15,000 15,000 0
202 Ol 5,000 1,000 4,000
03 S 2L20d| 5,000 0 5,000
O&RXUE 32, =239 &A 5,000
301 EtEAS 10,000 12,000 22,000
07 12+RI=221 04 Hl 10,000 12,000 22,000
ORUEA et XA 10,000
NEXIANES S 223 A& 107,900 106,900 1,000
201 ZEt2 S| 107,900 105,100 2,800
02 3324l 107,900 105,100 2,800
OXge ZHE NAJs BE€3 107,900
FAE INE OIE S REHS 70,000 70,000 0
301 gerE A= 70,000 70,000 0
07 22+l 04 Bl 70,000 70,000 0
OFEAH REos+ XA 70,000
HAUd sl [SHAO A 60,000 85,000 225,000
307 ei2tol & 60,000 85,000 225,000
02 A AEE 60,000 85,000 225,000
OFAHE FEtAOH 24 X 60,000
Shel=M ZazFuEd2 =3 A3E 27,000 0 27,000
201 2Er2 S| 25,000 0 25,000
03 AL24HI 25,000 0 25,000
O%fI& 28| 25,000
202 O bl 2,000 0 2,000
01 WO 2,000 0 2,000
OMNEEAL & ZUHAIE LY 2,000
ZE2s0= i3 XA 30,000 60,000 A30,000
201 Zer2 | 1,000 5,000 24,000
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2N

=EE

e

SREASH

D AusSs Jls HE

=22 MUE dkot=s 2F2H

24,000

01 AtR2t2| Bl 1,000 5,000
OZREsM=s = M3 1,000
301 LEtEAS 29,000 55,000 226,000
07 g2t =20 H 29,000 55,000 226,000
oZa2BsuE 7 M3 29,000
SHEH Dl =4 103,000 69,500 33,500
DRSS ZHMEFE IHA 30,000 19,500 10,500
301 2EtEAS 30,000 19,500 10,500
07 212212 21 04 Hi 30,000 19,500 10,500
ORIt EIt =2/0iH K& 30,000
=0l Mg JtolEs M 5,000 0 5,000
201 ¢gr29hl 5,000 0 5,000
01 AtR 22l bl 5,000 0 5,000
OJ0IEE MEZ 5,000
ANNLFRAS SRY WE2ZR 56,000 50,000 6,000
201 ¢er24| 25,700 21,040 4,660
01 AtR221 I 24,200 18,600 5,600
OZA &XZ 16,200
Ost=01 u=tl 6,000
OJIEH 2ANEE 7Y 2,000
02 324l 1,500 2,440 2940
ongz!f E23 ALY % 2S8R 1,500
202 Oidl 3,480 4,600 21,120
01 =LHOA I 3,480 4,600 A1,120
O¢i+=3R3 IUHEZ 2,200
O3 2R3 =UH= ot 1,280
301 LEBAS 2,400 2,340 60
08 2IBI=& 0| 2,400 2,340 60
O33R U+ 2,400
310 =201 24,420 22,020 2,400
02 3NMRE= 24,420 22,020 2,400
O3 R MEH| 24,420
SR E2HM s It 12,000 0 12,000
301 eEtEAE 12,000 0 12,000
07 gi2tel= 204 12,000 0 12,000
O&IIN 22 X& 12,000
+=EZHH L5 1,230,400 1,251,100 220,700
& 350,000
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SA: BEYAYE
By 222 AUE SO YRV SH(LUITUT/LBYT)
ool A5FWY 25 (291:8a)

880, 400
XHAADIHE = (3D) 875,000 875,000 0
z 350,000
=3 525,000
402 QI X201 A 875,000 875,000 0
2 350,000
L= 525,000
01 PR EEE 875,000 875,000 0
OXlSate OHAHIE K& 875,000
2 350,000
= 525,000
SRYRATRINS LAY 30,000 0 30,000
307 21201 & 30,000 0 30,000
02 LIHAASEE 30,000 0 30,000
OS2YRAMERIL 30,000
Eoiy 25 ¥ 0 86,000 119,500 £33,500
201 Yure | 5,000 0 5,000
01 AL eI 5,000 0 5,000
O4+& % SHADHE XA o 5,000
202 01t 51,000 4,500 46,500
01 2ol 11,000 4,500 6,500
+8)|9 HEy = 11,000
03 22/ 201 40,000 0 40,000
odHADIHE FT 40,000
402 212 RHE0| & 30,000 115,000 285,000
01 UAREEE 30,000 115,000 285,000
O%+&JIY EFMNRL 2Y 30,000
M LYATRANRL 29 172,400 176,400 24,000
101 @244 50,000 50,000 0
04 JIAH2 RIS LS 50,000 50,000 0
ooyl ¥ I 50,000
201 Let2 | 116,000 120,000 £.4,000
01 AL 22l 116,000 120,000 24,000
oLLARA ¢ 116,000
202 01t 4,400 4,400 0
01 2LHOIH| 4,400 4,400 0
OLEUY PAARA LREX 4,400
203 YR EXY| 2,000 2,000 0
03 N MEZAREZIY| 2,000 2,000 0
oZEH 2AAR FZ 2,000
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SN 2RYANAC
u: I2Y AE MEoHs LRVY M (LUTIYT/LUHE)
Sel: ~EFVY Y3t EERED

= olElF LATRANRL 29 67,000 69,000 £2,000

101 @121 17,700 17,700 0

MIIZHIZNS 24 17,700 17,700 0
o012l ¥ YHBH2 17,700

201 Yut2 | 47,300 50,300 £3,000

01 Ak 22l 47,300 50,300 £3,000
ONBFARA LE2HY| 47,300

202 01| 1,000 1,000 0

01 2L o1 1,000 1,000 0
0BT RANPA AREZ 1,000

203 P E Y| 1,000 0 1,000

R EES ST 1,000 0 1,000
ONFE RAAR =X 1,000

ATRX P x4 154,800 156,800 £2,000

ARRX MYE =3 53,000 71,000 18,000

202 OfH| 25,000 45,000 £20,000

FEPEENT] 25,000 45,000 £20,000
ARSI el NYE =X 25,000

301 Yy Aa 8,000 6,000 2,000

07 QI2toI =2l 01H| 3,000 6,000 £3,000
OMSAEX £T3 U MYX =X 3,000

08 28I EH 0| 5,000 0 5,000
ORXUY SXX =3 5,000

307 QI2HOI & 20,000 20,000 0

04 DIZFHALE 20,000 20,000 0
OSXSX IR &t 20,000

Z2ME g5 53 101,800 85,800 16,000

201 Yer2gy| 34,000 20,000 14,000

01 AL 221l 34,000 20,000 14,000
OZZME Y Y B2 34,000

202 ofH| 15,000 33,000 18,000

01 Z2LHOIHI 15,000 33,000 18,000
OZZHME AR 15,000

207 &1 PO Y| 20,000 0 20,000

NEEEET 20,000 0 20,000
OARAENNSY NE 2 20,000

301 YErB A 28,800 29,800 21,000
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PN 22LASH
FH: 22Y ANUE dots 2R LS (LSS HFY/LBHF)
el AXFR Ol =4 (s @)

2IIEt2&S 28,800 28,800 0
OFXRX K22 2¢ 28,800
310 =201 4,000 0 4,000
02 FMRE=S 4,000 0 4,000
O2A=SX 23 B35 HWHA A3IHI 4,000
M2 |X & MICELY 4 130,000 56,220 73,780
SHE2 It ¥ JHF 60,000 56,220 3,780
201 2Er2 S| 15,400 0 15,400
03 A2 15,400 0 15,400
Ostel S SAlHI2Ior 209 BIZUAZH Ji 3 15,400
202 O Hl 1,600 3,920 22,320
01 =IO 1,600 3,920 22,320
O=2ue HI=ZUA 23 &4 1,600
301 ¢EtEAS 3,000 12,000 29,000
10 HALAHIZ &= 3,000 0 3,000
©gl2tol 2 HIZUA Y &0 X 3,000
310 =2101& 40,000 40,300 2300
02 =MRE3 40,000 40,300 2300
OUCLG 22l Hl 8,750
OL-HXEY A 31,250
MICEM S |4 X2 70,000 0 70,000
201 2EH2 S| 34,600 0 34,600
01 At 221l 13,000 0 13,000
OMICEEEZE AH & 23 29 13,000
02 3324l 2,000 0 2,000
OMICEZSHIOIXl RXIE= 2,000
03 A2 19,600 0 19,600
O=LH2l MICEEZt&Z &It 19,600
202 Od 4] 2,400 0 2,400
01 SLHOYI 2,400 0 2,400
OMICEDHAE =& 2,400
301 et A S 8,000 0 8,000
07 22t =204 I 5,000 0 5,000
OUMHAAH oil=razs &It N3 5,000
10 EALAHI 243 3,000 0 3,000
ogiztol 3 I XA 3,000
307 2I2to| ™ 25,000 0 25,000
02 RIZtB AT X 25,000 0 25,000
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SA:

=EE

=8B

=N
22¢ AE dEots 2RAN
2HE BRI UL MICELY S

25,000

SHusEd 43 523,000 551,516 228,516

A2 22 52,000 102,000 A50,000

201 ¢824l 52,000 72,000 220,000

01 AR 22l 5,000 0 5,000
oMga 2| 5,000

02 S&=2gtl 47,000 72,000 225,000
OFEMFX 2el 44,000
o=EXNEY KA 3,000

OLENXIY XISJtsZ=AS & 81,000 57,076 23,924

201 B2l 61,324 33,000 28,324

01 AtR 22l 11,000 3,000 8,000

ozdld 29 11,000 '

02 3324l 3,000 3,000 0
OIUTCEHIOIXl FXIE% 3,000

03 A2l 47,324 27,000 20,324
OELE HM2HH(L L 2M=E S 47,324

202 o Hl 6,276 6,276 0

01 SO 6,276 6,276 0
OXEIts TAs A28 & 29 6,276

301 Bt S 13,400 17,800 24,400

08 28I =& 04| 8,400 16,800 28,400
O=HUE ZAMEE 32 8,400

10 AAMAHIEAS 5,000 1,000 4,000
OZFHAUM &H24 5,000

g & OiE 238t 390,000 392,440 22,440

201 e FH| 26,960 28,700 21,740

01 A2t 13,960 7,700 6,260
OUA=EEE ME 13,960

02 35244l 4,000 9,000 25,000
o=Ue sHes 4,000

03 A2l 9,000 12,000 23,000
O=HEAMN &It & 29 9,000

202 Ol 2,040 2,040 0

01 SUHA 2,040 2,040 0
ouUEH & OE 4282 2,040

301 LEEASF 11,000 10,500 500

07 2I2toI =204 Hl 9,000 9,000 0
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SN 2RYAYL
Hu: 22Y ANE Mo YRVY M (YUTTHUT/LBUT)
©9l: ZHDSEY 2o (el ®

o

O=HMEH FA( 9,000
10 EAMAHIB A= 2,000 1,500 500
O=UIIZ g =T (AF) 2,000
310 22018 350,000 350,000 0
PEVEIEE 350,000 350,000 0
OUN-HABITAT =MIRE= 350,000
g=23MEE = 27,000 30,600 23,600
HE FHEAANY XA 13,000 16,300 £3,300
201 et 2,000 2,000 0
01 ALR 2 2IH| 2,000 2,000 0
OHELAT NRHHAAS 2,000
202 0iH| 11,000 14,300 £3,300
01 2UHoi| 11,000 14,300 £3,300
oH=ARE Y25 11,000
HELJATuFEHI Y 2 14,000 14,300 A300
201 2Er24]| 14,000 14,300 £A300
01 LR 2 2IH| 6.800 6.800 0
OMNRY AXE 6,800
02 BB=22H| 7,200 7,500 A300
OMSA B2IHl ¥ 22R3 7,200
ynYES D20 E4 1,745,000 0 1,745,000
BDBED2I0t DAL S 1,500,000 0 1,500,000
401 AIEHIZL SR THYI 1,500,000 0 1,500,000
01 Al&H 1,500,000 0 1,500,000
OlndHE YW 1,500,000
np=I2or =8 ¥ SR 245,000 0 245,000
201 LEr2g| 15,000 0 15,000
01 Al 22| 15,000 0 15,000
QuIYME EXNRX EE 10,000
ozg++E 5,000
202 04 30,000 0 30,000
01 2ol 20,000 0 20,000
OHDUE YRFA 20,000
03 2220l 10,000 0 10,000
OHDUE YLFA 29Es 10,000
307 BI2H0I ® 200,000 0 200,000
05 Q23 200,000 0 200,000
OEE=RAX 443 200,000




SH: 2RYANAT
I HHR2AAY(22YALC) (DIEHIIEH)
Gl A2y (Et51:83)

HISAJHI (SZYALE)OIEHIIEH) 221,695 132,638 89,057
EERT 148,835 90,382 58,453
TR Q1A X 78,360 48,813 29,547
204 X482 H| 78,360 26,820 51,540
CEEEEST 78,360 26,820 51,540
osysw 300, 000812128 3,600
042 400,000 * 12+ 128 4,800
053 250, 0002+ 1284 » 128 36,000
063 155, 0002 *9% » 128 16,740
o723 140, 0002 +8% 128 13,440
©8- 93 105, 0009 *3 128 3,780
22 A BHOIX Z2I¥ 29 23,538 0 23,533
101 Q1218 23,538 0 23,538
03 R HA2Z RS 23,538 0 23,538
P 41,0008 52612 * 12 10,701
ooz 10,701,000 %1/ 125431 * 12 3,567
OUNRSEIN+Y 69,8018+ 162 12 1,117
CNEEEESS
8, 7252 150%+20Al 24+ 12812 3,141
CEEEREAS 41,0008 522 12 2,132
CEEEST] 300, 0008 +25] 12§ 600
CERE 130, 00024 * 128 * 12 1,560
onst| 60, 0008 128 12} 720
4P BRY 2Y 46,937 41,569 5,368
101 2124H| 46,937 41,569 5,368
03 RV HAZZ RS 46,937 41,569 5,368
ML 41,0008 +22 2612 21,402
o&02 10,701,000 x22%1/1248] 7,134
ORI EINSY 69,8018 x22#152! 2,095
oA ZRL
8,725%1 +150%+2% x20A| 2t# 128 6,282
oR38Y+e 41,0008 +22#522 4,264
CEEEST] 300, 0008 +22 23] 1,200
CERE] 130, 0002 +22 + 128 3,120
onst| 60,0002 24 » 128 1,440
ol 72,860 42,256 30,604
SNEY =B 72,860 42,256 30,604
201 LErE | 40,000 22,336 17,664
01 A2 2l bl 30,000 19,636 10,364
ORA2Y ART2IH| 30,000
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2A:
T
= I

cel:

SZYAMYH
HESHAH(SZE AL ) (OIEH/DIEH

JI23&8l

02 E324H 10,000 2,700 7,300
ORAN2g 3324l 10,000

202 o1l 10,000 6,720 3,280

01 3 AbI 10,000 6,720 3,280
ORA2E IUAHYI 10,000

203 R =& 10,260 9,000 1,260

01 I 228 8RFTH| 6,000 6,000 0
OSZY AN EE 6,000,000 1 6,000

04 EASEL 2= 4,260 3,000 1,260
O=SZEAYH 355,000& <128 4,260

204 2= A Y| 12,600 4,200 8,400

01 ZM SR+ AL 12,600 4,200 8,400
OSZY AN HE 350,000 x1H =128 4,200
osgEgsE# 350,000& x1H 128 4,200
o ndH=FAH 350,000 »1E*12& 4,200
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